AR, HiEERARUVARYIDODIEA (M&EBHD

R (TEST) %ﬁ’r%%@
(—HEAMER., FZNFITGRIDRDL G ATV ET, FIA— T —%]

7 -
—— uu_,

BIIH, —HLeoTRYET, (i H  ROAy 7 OFFRITL T EHL A LT, ZHERE TS, )
i FEV BEDBDST 6 lRAROTETY, )

i
-

ACONNECLIONS

-w ﬁﬂﬁﬁﬁ?hTbi P 'j"'o:I:ﬁb/a//.’__

T381-0038
(20114 9A] #HE— BEEHE 2000 £ 9 A 20 H ST
TEL: 026-256-9677 FAX : 026-256-9688
X PSR, FRENDH DA THRA—/VIL, info@tke—g.jp FTTHMKIIZEN, [20114E 9] <~—¥ 1> S PRSI
Fe5e H y wmA | mes e RAEOTERA/ ) | |4FH 7571 —PEREMAX) [SRFLF (MAX) - s e
@) A== T4 Jrifa it B OBk ’Eﬁﬂﬂ o]l soped| o 7J¢‘A|j<%R| e ?“/VV| . BB X0, O < OPWITRFEREREZRL TOET,
48 I— |CRIO% 4 Wikt | | 3&3&10 179.6 | 18.0 | 80.0% TZ2[ 0 [ B ] <> TR 222R=9. 0% K) + T'5R=48.0%
()1-2&) CVJ [(0/20/30/40m]) | &12&13 T5 | 418 <EZE> T E13R=0.5%- T 15R=0.5% 47 15R=22.0%
@ LY RDIRAEAE) (1A% | KTy n—=13fE B BT 4y n—=1 28 E Bk 7 | F13]1,088 > T JE2R=20.0%(RFEZ0[R])
O = LEHHTH 1+ A 4TH | A R | | | T 15 1,255 [, WFRERF] <HZE> T 222R=0.0%(H i I ISE) - TF5R=48.0%
@ [IERIEZ | =B RIkRIZ 1~ @IRER) =72l @I8fHAE)—| @IAEIEWL] 4 151,130 <TEZE> T FE13R=0.5%+ T 15R=0.5% 45 15R=22.0%
O /140 e =1/315 | | | Gl > T Z22R=20.0%(HF420=6.0% - 30=8. 0% 40=6.0%)
CRTUARIL D% R} ST# | 3k | 3&3&10&15| 77.7 | 7.77 | 100.0% €2l 0 <HuER 22> T 92 2R=20.0%CF A 5[ AR A K1 3K 30 /]
STV (5/30/501m]) (ST=5) T 5| 488 <HeZE> F5R=75.0%(4 & 30[])« T F£10R=0.5%(YK50[H])
FEY R DRIEZEBh ) 1% | KT AT Hyh—Sm=16ME F Bk 7 | F1of 977 <S> T 12R=0.5%(4 R 50[1) - 45 12R=4.0%(¥#"50[1])
@ = [l 4Th )+ 4 T 5 A b | | 2] 1172
@ ERiEE =7 @IREH) =7/ @I8FHAE)—| @I AFIEW{L] @I/NYV =71 £ 121,156
ZEYE |CREMLER MTM ‘Zﬁﬁiﬁ| STEJE | 3&3&10&14 | 390.1 | 39.01 | 75.0% | 4.881 22 15| 0 [~ ]<Hfe25>2215R=28.0%(F1¥=20.0% - ¥k [21=8.0%) - 15R=47.0%
4 | (50/70/100Mm]) 15 | 1,555 <G E>15R=25. 0%(HF4E50=5.0%  70=10.0% * 100[E1=10.0%)
52 6.5| 650 [ F2—] <HZs>327.5R=9.2%- 5212R=12.2% 5£12.5R=4.8%
% 7.5| 780 e >9214R=8.0%+ 5£14.5R=8.9% 15R=31.9%
8 sork | 1,183
3 121,210 <EE>926.5R=25.0%
% 12.5[ 1,280 (R#4E50=5.0%+ 70=10.0%+ 100[F1=10.0%)
@ [EIRFEZ | =[WEEIR] 217 @IREH) =HV@I8{HAE) — | @I ET = — (k) 3 14| 1,410 MIRFOH B, TR H B O A— I — 3 FAH
@ /)40 =2 =1/199.8 (/D ) % 14.5] 1,490
CREEFF AR MTL WRA | 3F)E | 3&3&10&14 | 390.1 [ 39.01 | 80.0% | 5.734 22 15| 0 [~ J<He25>2215R=28.0%(#T1¥E=25.0% - ¥k [2]=3.0%) - 15R=52.0%
4R | (50/70/100Mm]) 15 | 1,360 <G E>15R=20. 0%(HF4H50=18.0%  70=1.0%* 100[E1=1.0%)
52 6.5| 590 [ F2—] <FEZ>3E8R=24.2%¢ F212.5R=8.0%" 5£13R=3.2%
%8| 700 <HfedE>9214R=T7.0%+ 5£14.5R=10.1%" 15R=27.5%
7 sok | 1,011
52 12.9 1,100 <3 > 96.5R=20.0%
£ 13| 1,150 (F4E50=18.0%-70=1.0%- 100[=]=1.0%)
@ [[EIRFEZ | =[WEEIR] 217 @IREH) =HV@I8{HAE) — | @I ET = — (k) 3 14 1,250 MARFOH R, TR H B O A— I — 3 FRKAH
@ /)40 =8 =1/199.8 (/D ) % 14.5] 1,300
REEX |CRIFBLAZTIR—ZKMERH | STE [300r100) 3&3&10&13| 196.8 | 43.06 | 100.0% | 4.539 g 4 377 S [~V]  <HEZ>4R=60.0%( 5 30[A]) - F24R=35.0%(3K"30[a])
LM2 (ST=60)| 78.0% 15 | 1,415 <2 > 15R=5.0%( % 100])
@5 = T4 B AR [FEF2—] <HEZE>4R=60.0%(F% 100[E]) - 15R=40.0%(F 4 100[a])
@ NEHIRMEZE ) =041~ @IREH) | =HV @I8EHAEY — | @ ETF = — ek
oupumE=nL | | | L]




XM, R H LS . T A— VI, info@tke—g.jp TTIMEAELIZEN, [20114E 9H] <~<— 2>

75 H ) Ty | ms . RUveR1/ ) |z |4%E T2 71— PEREMMAX) [EE ) (MAX) e ot .
om| 2P Hefi 4, /A it Rl e WM %8, O OPERIEREEEL TOET,
48 | z1—%"V |CREER L Hiflis e WA | Oorl5 | 3&3&8 129.4 | 12.94 | 82.0% | 6.083 22| o [~]  <HEZE>Z22R=14.0%WEIE) - 22 15R=3.0%(W[E1 )
()1-2&) S—VI(G) &9&10 72 15| 0 <22 >TR=60.0% JUB15R=2.0%+ 15R=3.0%
7 7 | 439 | 5.45 | 342 <3E > ZR2R=17.0%(FE£H0[E]) - 2215R=1.0%(H54H0[a])
JUB 15 940 [EF=2—] <HEZE>%22R=13.0% TR=60.0%
@ HIRIRZ | =[WIHER] #1477 @IREH =HV @I8HAE)—) @IEF = — (k] 15 940 <IifgZ5>JUB15R=2.0% 156R=7.0%
@ /N 4D R =1/215.67 (~/ D) G >922R=18.0%(4E 15]A])
B B |CREMERBURGVAY k2 | BMREA o 3&3&4 99.9 | 39.6 | 100.0% 2215 0 [~V] <FfZE>T2215R=35.6%5kRe) - IZ4R=14.0%E ke
()1-ZBR) STE &5&5 (ST=58) 3z 4] 137 <HeZE> FJUB15R=2.4%+ T 15R=24.0%
(0/11/6918]) [3% k., F74yh—i@=5EEEK L 15| 515 e8> FRUB)30BH/K=12.0%(F & 11[8]) +45B8=12.0%
@51 = T3l FT |+ A 4T | AR | | Y [T 5] om [F2—] <HEZE> T 15R=80.0%- [ FRUB145M4£=20.0%
@ &R =B Kk & (1B 21~ @IRZH) | =HV @8l AT — | @IET = — (k) RUB30| 320 MARTOMEIL, TIE N EE O A— T — R FKAE
@ /1Y FEE=1/199.9(~Y D7) | RUB45| 440
#U¥4R&D |CRIHIH> LS E> RR STE |150rd5| 3&3&10&11 | 77.7 | 7.77 | 100.0% | 2.047 g 5 | 392 01 | aso HLER> <ifeZE>5R=93.0%(4 15[E]) - 16R=7.0%(3 " 45[a])
AR DR REZE ) ) 1Ak (ST=4) [ 51.1% 16 |1,253
@ E = 4T H AR
@ERiEE =7 @IREH) =72 @I8FHAE)—| @I AHIEWL @I/INYY k=71
1B | Za—%"Y |CRIEDBER~/ 7%1)t7ﬁ| 4TEE | 3&3&10 397.2 | 39.72 | 80.0% | 5.473 T224] 0 [~V] <FEZE> TZ24R=1.0%CEki0) - _E4AR=9.0%(& kit
(#F#ra) L—V | (0/40/60/100[8)| &13&15 4| 497 <FEZE> T 9E10R=41.0% L 16R=8.0%
L2—VX KT 4y h—=13AE B BTy h—=15 @ EEK F5% 10 1,077 <HeZ5> EIRUB]16BA=18.0%+24PH=2.0%- 48BA=1.0%
L2—V 9 | 116]1,989| s« | 1,078 GEE> 14R=20.0%(H4E0[m])
RUB16| 613 [FBEF2—] <FEZE> T 224R=10.0%CH & R [A1YZ) « F16R=49.0%
RUB24[ 871 28> [RUB)16[H=18.0%+ 24BH=2.0%- 48BH=1.0%
@ BRI | =B RIkR 2 A7 @ITREE) | =H) @I8{EHAEY — ) @ EF L1k RUB48| 1,738 GEE D> T 224R=20.0%(F55H40=15.0% 60=4.0%- 100=1.0%)
@ /N4 | FESE=1/306.24 (~Y DFr) SORFOMEL, TRE M EMSE DA —FHEKH
% BE |CRUVZ BLLWoO7HME FPS STH 00r70 3&3&9 199 70 | 100.0% | 2.738 72221 0 [~V] <HeZs>282R=1.5%F[E1H) - 2£5R=20.0%(HI[E1E)
BINE &10&15 (ST=70)| 63.5% 225 0 <HEZE>BR=17.0%(H 7K 70[a]) » F£10R=50. 0% 70[=])
@K H = T B kR 9 5 622 | 9.06 | 1,126 <S> 16R=5.5%(F K 70[H])
@ B RIEZ | =[WENERIZ A7 @IREE) | =HV @IS{EHAEY — ) @ EF L1k 3210 1,243 [EFa—] <FEZ>Z22R=7.5%(FHK 70[E]) - 5R=37.0%(3K70[a])
@ /4D R =1/75.0 (YD&) 16 {1,989 <8 > 3£ 10R=5.5%(3K 70[]) - 16R=50. 0% 70[a])
A—mE< |[CREVZ-LF1—2011 STE |300r100f 3&3&10&10| 122.9 | 16.17 | 100.0% | 2.281 25 0 [~V] <He2s>225R=15.0%(F % 30[E])« 5R=21.0%(¥430[a])
FEER) KH (ST=5) | 56.2% 9 5 | 403 930 | 750 AR > FE8R=32.0%(HHK"30[A]) - 15R=32.0%( K 100[A])
@ HIRTEZ =72l @IRAW ) =% @ISHAT)—] @IEF =—EIil k) 38| 645 [FEF2—] <FEZ>%25R=0.0%- 5R=36.0%(} 7 100[=])
@ /40 | FgsR =721 15 | 1,210 <AL > FZ8R=20.0%(H K 100[H])  15R=44.0%(4 " 100[a])
CRHIWEELZ-LF—2011 | STE | 40E]| 4&4&10&9 | 122.9 | 19.82 [ 100.0% | 1.724 25( 0 [~Y] <HZ5>925R=15.0%(F 40[a]) - 5R=25.0%(F 7 40[a])
KX WAV, BF a—HER=44 (ST=5) | 42.0% 9 5 | 363 676 | 636 <HEZE> FZ8R=30.0%(HA°40[m]) - 15R=30.0%(H°40[m])
@ HIRTEZ =72l @IRAW ) =% @ISHAT)—] @IEF =—EIil k) 328 | 581 [EF2—] <FEZ>2E5R=0.0%- 5R=40.0%(}1"40[=])
@ /140 R =L | | | | | 15 | 1,090 25> FE8R=20.0%(3 400 - 15R=40.0%(¥7"40[)




XM, R H LS . T A— VI, info@tke—g.jp TTIMEAELIZEN, [20114E 9H] <~<— 3>

675 H ) s | Eers . KMOFER/ ) |Hess EE T 5y I —PERE(MAX) | ) (MAX) e . o
@) AT — HEfEA, 'E}’;m E%g OB i | | 2| e[ [ o] BE | oor | Tiv THEM X—8, O OPUTREREEZRL TOET,
188 | 443— CRZua L7 7—%% MST2 STE [330r100[ 3&3&10&15| 299.7 | 66.6 | 100.0% | 1.915 | 10 [ 16 [2,235]16.00 | 2,235 |[-~V] <FEZE>16R=100.0%(33[m1=50.0% 100[E]=50.0%)
Ibyh (ST=33)| 47.8% [EF=—] <HeZE>16R=100.0%CK"100[H])
@ HIRFEL | =70l @IREH =72l @I8fiAE)—) @IAEJENL) @I/4D fEE=720
RHBER|CRIZL — D —HP—2 /12 ?éﬁiﬂs@;’sié 3&3&10&12 | 282.5 | 28.25 | 85.0% | 7.716 222 0 [~V]  <HZ5>222R=25. 7% PRAk#E) - AR=16.9% - 15R=42.4%
(0/33/771a]) 9 4 | 389 | 6.79 | 661 GEH >Z22R=15.0%(F4E0[])
@K H = T B kR | 15 | 1,460 [T =] <FEZ>ZE2R=40.0%( K 33[A1=20.0%: 77[H]=20.0%)
@ [TEIRTEZE | = [ RAkRE &[0 55012 1~ @IRAT) ) =) @8H AT — | @ EF~— & i1k <HeZE>15R=45.0%
@ /Y0 | Fe==1/78.7 Gl >ZE2R=15. 0% A3 3[E]=8.0% - 77[[]=7.0%)
7 [ |CREEDREAM F TRA | 40r100 | 3&3&10& 15| 348.6 | 34.86 | 63.2% | 3.005 0 2221 0 12.39| 1,730 CHLFRD <R 25> Z22R=17 4% Hk#9i=8.4% - FI[RIIE=5.0%+ R Y£=4.0%)
(V247) 15 {2,095 HEZE > 15R=22.9%(H K 4[E1) X A IRF I L vk [B132
@ [1EIRFEZ | = [RIEEEIR] & [ R Ak & ([0 45 b1 1 <HEZE>15R=19.9%(F R A[E]) X K AT « IR Xk (132
O RED | =7/l @I8fHAE)—) @IEF—HSeilk) <HEZE>15R=3.0%(H K VR E13Z)
@ /40 =t =721 EH>15R=36.8%(IRFALA[E]) 34K IRF I L IRFEL100[E]
CREEDREAM M STE | 60/A| 3&3&10&15 | 190.0 | 19.00 | 100.0% | 2.236 2221 0 CHEER> RS > 92 2R=24.88%(F K 60[R]) « 10R=54.72%(¥H°60[m])
@ RiEZE =72 @IREH) =7l @I8EAE)—) @IEF—E5E k) |(ST=10)| 55.3% [ 10 [ 10 [1,397]8.53 | 1,192 <25 >15R=20.40%(&"60[])
@ /40 | FgsR =721 15 {2,095
SANKYO |CR74—n'—~vzrzx7nrs47 | BHRA | 30| 3&3&10 151.7 | 20.6 | 67.0% | 3.695 22 15| 0 [~]  <HEZ>ZE15R=20.0%(F) B {R=18.0% - ¥ [E]=2.0%)
(J1-25) B ¥ T &12&12 7 537 <HEZE>TR=32.0%¢ 15R=1.0% [RUB ] 325R %y B it=2.0%
T, E7on—Hum=12E E ER ; 15 |1,150 290 | 631 - FZ10R%y B ik=10.0% - 3£ 15R Sy B jik=2.0%
RE 5| 377 <GE > TR=33.0%(IH# 45 30[A])
R 10| 753 [BFa—] <FEZE>TR=32.0%- 15R=1.0% [RUB ) 525R %y BH /%=2.0%
@ N RIZ ) =WHER]IZ (4~ @IREE) =5V @IBHAE)—) @IETF =—HEIEHH k] R 15 1,130 « FZ10R%7 BAf%=10.0%- 32 15R/y B ii=22.0%
@ /4D 1SR =1/240.1 (~Y D Ir) EF>TR=33. 0% (430 [E])
CRIf—nN'—=~ruR7urT47 [ #RA| 300 7&3&7 157.2 | 19.8 | 55.0% | 2.691 722 15| 0 [~V] <> Z215R=17.0%FIEIEHR=16.0% ¥k [F1=1.0%)
BT FTo5% &10&11&11 7 | 488 <FEZE>TR=20.0%¢ 15R=1.0% [RUB ] 325R % Bl Jit=4.0%
MAYHER=T ; 15 | 1,045 756 | 514 < FZ10R4Y BR i%=3.0% - £ 15R %3 B it=10.0%
T, E7hoh—Hm=11E B 2k R¥ES5 | 342 E > TR=45. 0% (I 4E30[E])
R3E 10| 683 [FBF=2—] <FEZ>Z515R=1.0%C K Yk[A]) - TR=20.0%- 15R=1.0%
R 15[ 1,025 <FEZE>[RUB)ZE5R S5 B fi%=8.0%
@ B RiEZE | =(WENERIZ A7 @IRED =5V @ISHAAE)—| @IET=— N - E10RYBAJi=6.0%- £ 15R 7y B =19.0%
@ /N4 1SR =1/240.1 (~Y D Fr) E > TR=45. 0% (I 4E30[E])
R |CRAERE 42 9AX STE | 80r100 | 3&3&10&13| 99.9 | 14.4 | 100.0% | 3.041 g 5 | 478 =50 | 506 [~Y]  <®eZE>5R=95.0%CHK 8] 15R=5.0%()4"100[H])
(ST=8) | 60.3% 15 | 1,435 [BFa—] <HEZEO5R=95.0%(F4 100[E]) 15R=5.0%(% 100[=])
@ HRMEZE 1= @IREH) =72l @I8HAT)—) @IEF=—MEiLH) @I/NYD HEFE=7/1




XM, R H LS . T A— VI, info@tke—g.jp TTIMEAELIZEN, [20114E 9H] <~— 4>

F58 H " wmA | mes e KREOFERA/ ) | |4E 7 2y 71— HERE(MAX) (SEE ) (MAX) e Sor .
©H) A—T1— A4 Jrifa it Bk @ﬁ“ﬂ | e ke 7m‘/b| j(“ﬁRl = ?M“| . BB X0, O < OPWITRFEREREZRL TOVET,
188 |#Vt1R&D|CRA G1 DREAM. RR2 | BIRE | SHEJH | 3&3&8 99.9 [ 39.6 | 55.0% T8 | 573 [~V]  <FEZ> T8R=50.0% (B iRAKRE=10.0% #K K [H]1=40.0%)
FEHER) (0/30/50/70/100[F])| &9&9&10 9 T 16| 1,147 WS> T16R=5.0%  <3H% > T8R=45.0%(F§E0[A])
@R E=EHWTH |+ HTH 1 EA R KTFT Ay h—=9fB B ERKATFyh—=10fE & 8| 635 [ F2—] <HeZs>48R=30.0% 75 16R=25.0%
@ BRI | =Rk 24~ @IRET =HY @ISfHAEY—] 0@%:4%5‘5(%1% 161,269 GE > A 8R=45.0%
O /)0 e =72l | | | | | | | (W§30/50/70/100[)
258 | BEfiERE [CR 2L RS W% | 70E| 3&3&10&15 | 399.6 [ 45.7 | 81.0% T3 4| 503 [~V]  <HeZE> T E4AR=27.0% (EkfE) + T 15R=54.0%(FK 70=])
STH | 00r70 (ST=71) 9 | F15(1,885 GEHE> T 15R=19.0%(Hr4E70[m])
@FFE =EF T H )+ B AR T4y h—=1508 BB Ty h—=1508 B ER 4 15| 1,865 [EF2—] <HeZ>AH15R=81.0%CK"70[E])
@ B RIEZ | =B Rk 2 (7 @IREH) =HY @ISEAE)—) @IETF —ESLWH{tk] $GEH A 15R=19. 0% 70[8])
@ /Y R =701
CRA ZWN¥>7 B WHE#% | 30M] 3&3&10&9 | 99.9 19.2 | 75.0% THE 4| 255 [~V] <FEZ> T 524R=35.0% (KR T 8R=35.0%(K"30[E])
STH | 00r30 (ST=31) T8 | 509 <HEZE> T 15R=5.0%(4°30[m])
@R E =EHETH I+ AT E ATk KT T4y h—=98 B ERKA T Ao h—=9f E Bk 8 | F 15| 955 GEH > T 8R=25.0%(HH30m])
@ [IERIEZ | =B RIkRE 121~ @IREE) =HY @ISEAE)—| @IET =— Lk £ 8| 499 [FBFa—] <FeZE>A8R=T0.0%(F5"30[E]) - 45 15R=5.0%(F4°30[a])
@ /Yy =721 Fi15] 935 G > A7 8R=25.0%(FFAE.30[m])
TILRY [CREE A STE | 100r90 | 3&3&10&11 | 98.19 | 20.67 | 100.0% | 2.101 72221 0 CHRER> R > Z52R=15.0%(1H K 10[A]) - 324R=20.0% (4K 10[A])
()1-28) | @FFE =1 HIER) (ST=10)| 52.4% g 34| 313 210 | 550 7S >8R=45.0%(F & 10[E])  JUB15R=4.0%( " 10[=])
@ HRMZE =7 @IRET) =HY @ISHAT)—) @IEF=—MEILH (L] 8 627 <HEZE>15R=16.0%C 4 10[H])
@/ HY R =70l | | | | | 15 | 1,175 SR ORI AI0[E]




